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Globally Equal Per Capita Shares of Carbon Emissions 1750-3013

48% + 52% = 100.00%
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Debitor’s Actual Emissions are Shares plus that Credit = 78% i.e. 48% + 30%

1800 1850 1900 1950 20001750

DEBITORS

CREDITORS
-30% Debitor E

xc
es

s

EXCESS

22%

DEBITORS 48% 238 Gt C 78% 386 Gt C DEBIT -30% -149 Gt C
CREDITORS 52% 257 Gt C 22% 109 Gt C CREDIT 30% 149 Gt C

TOTAL 100% 495 Gt C 100% 495 Gt C

 SHARES (EQUAL
PER CAPITA) 

ACTUAL (UNEQUAL
     PER CAPITA)    

RESOLVE
DEBIT:CREDIT

CO2 DEBITs (excess) - CREDITs (shortfall)
Defined off the rolling global per capita average of CO2 consumption 1750-2013 

http://www.gci.org.uk/CREDIT-DEBIT.html


